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Statistical Inference
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One unfolded A4 page of notes, SCSA formulae booklet and ClassPad calculator permitted





48 marks
45 minutes












1.  		[1 mark]
A sample of 36 items has a mean of 28 and a standard deviation of 9. What is the standard deviation of the sampling mean?








2.  	[1 mark]
The sampling distribution of the mean mass of hands of Cavendish bananas was found to have a mean of 2.3 kg with a standard deviation of 0.1 kg for samples of 40 hands. What would be the standard deviation of individual hands?










3.  	[2 marks]
[bookmark: _GoBack]The average order at a takeaway shop is $22.59 with a standard deviation of $8.21. What is the probability that the next 30 orders will total more than $750?











4.  	[2 marks]
A call centre servicing a national pizza chain has an average call length of 88 seconds, with a standard deviation of 20 seconds. The call lengths are normally distributed.  What is the probability that an operator’s next 6 calls have an average length of between 90 and 100 seconds? 






5.  	[2 marks]
What is the 99% confidence interval for the population mean if the mean of a sample of 50 is 34 with a standard deviation of 9?







6.  	[4 marks]
What is the mean and standard deviation of a sampling distribution of a binomial distribution with 
p = 0.35 and n = 32 for samples of 45?












7.  	[3,3; 6 marks]
a  A normal coin is tossed 10 times and the number of heads is noted. This experiment is repeated 1000 times. What is a graph of the results likely to look like? (Include characteristics like shape, mean, standard deviation.)














b  Instead of graphing the results directly, the average numbers of heads in groups of 40 sets of 10 is calculated and these averages are graphed. What is this graph likely to look like? (Include characteristics like shape, mean, standard deviation.)



















8.  	[4 marks]
What is the mean and standard deviation of a sampling distribution of sample means from a  uniform distribution on the interval [15, 33] for samples of 40?












9.  	[5 marks]
From a survey of 600 people, it was reported that the 97% confidence interval for the weekly amount spent on transport was $75.60 to $84.90. What is the probability that, if you asked another 12 people, together they would spend more than a total of $1000 a week on transport? 























10.  		[3 marks]
A chocolate manufacturer claims that their Chocolicious chocolate bar have a  mean weight of 45g with a standard deviation of 3g.
A competitor claims that this is false and that the mean weight is actually lower although they agree that the standard deviation is in fact 3g.  They have lodged a complaint with Fairtrade Australia.
A sample of Chocolicious chocolate bars is to be checked to estimate the mean weight of the chocolate bars.
If we want to be 98% confident that the mean weight is within 1g of our sample mean, how many chocolate bars should we include in our sample?









11.  					                                                                                                                                  								[10 marks; 2,2,2,2,2]
 The weights of trout in a certain lake are normally distributed with a mean of 1.8 kg and a standard deviation of 0.28 kg.
a) If a trout is randomly selected from the lake, determine the probability that it weighs more than 1.6 kg given it weighs less than 1.9 kg.






b) If 20% of the trout in the lake are underweight, determine weight below which a trout is deemed to be underweight.




A fishing and wildlife office makes a random selection of 25 trout.
c) If the sample mean weight is 1.75 kg, determine a 95% confidence interval for the mean weight of the trout.




d) Determine the probability that the sample mean lies between 1.62 kg and 1.93 kg.




e) What sample size is required to be 99% sure the sample mean is within 0.4 kg of the true population mean?





12.  										 	                                                                                                                                                  [8 marks; 3,4,1]
Samantha drives to work on each work-day.  The mean time she takes to drive to work is  minutes with a standard deviation of 2 minutes.

a) The average time she takes to drive to work over a total of 40 work-days is 25 minutes with a standard deviation of 2 minutes.  Determine a 99% confidence interval for  (correct to 1 decimal place.).







b) The average time she takes to drive to work over a total of  work-days is  minutes.  A 99% confidence interval for  is . Find  and .









c) Samantha calculates 10 sets of 90% confidence intervals to estimate How many of these confidence intervals are expected to contain ?
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